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INSTRUCTIONS TO CANDIDATES

1. Write your Name, Class and Register No. in the spaces provided
above.

2. DO NOT turn over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

5. Shade your answers on the Optical Answer Sheet (OAS) provided.
6. The use of calculator is NOT ALLOWED.

This booklst consists of § printed pages, excluding ths cover page.




Paper 1 {Booklet A)

Questions 1 to 10 camry 1 mark each. Questions 41 to 15 camy 2 marks each.
For each question, four options are given. One of them is the correct answer. Make

your choice { 1, 2, 3 or 4 ). Shade the oval { 1, 2, 3 or 4 ) on the Optical Answer Sheel.
(20 marks)

3. Which of the following is a common multipte of 6 and 82

(1 12
20 18
(3) 18
@ 24

2. What does the digit 3 in 6.375 stand for?

{1} 3ones
{2) 3tenths
(3) 3 hundredths

{4) 3thousandths

3
3 Which of the following is equalto 43?

12
(1) r3
17
(2) ry
23
(3) 1
43
4) 3
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4. The diagram shows a home refrigerator. Which of the following could be the

height of the refrigerator? .
(1) 18cm
(2) 1Bcm
3) 18m
(4) 18m
L4

5. Sara had 6 pink, 9 purple and 5 brown ribbens. Find the ralio of the number of
brown ribbons to the total number of ribbons she had.

(1) 1:3
2y 1:4
{3) 5:6
(4) 5:9
8. What percentage of the stars are shaded?

Fe e fe Fek
defo e e
ARSI

(1) 6%
(2} 9%
(3)  40%
(4)  60%
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7. Arrange these masses from the heaviest to the lightest.
1
3.18kg 3kg 1084 3 kg
Heaviest Lightest
1
(1) 33 kg , 3kg108g . 3.18kg
1
(2) 3.18kg . 33k . 3kg 1089
, 1
{3) 3.18%kg . 3kg 1089 . 33 kg
1
(4) 3kgtoBg , 318k , 3 kg
8, In the figure, how many of the six marked angles are greater than 80°?
M s
(2 2
3 3
4 4
9. Which of the following is not a net of a solid?
{1 (2)
3) 4)




10. The table shows the mode of transport taken by a group of pugiéi to schogy,
Which mode of transport is taken by the greatest number of pupu%s,

Mode of Transport | Number of Girls | Number pf Boys
 Car 35 35
Bus 34 ' 35
Train 31 | 41
Cycling 19 25 ]
(1} Car
(2} Bus
(3) - Train
(4) Cycling

3 1
1. Kimi boughtz kg of flour. She used 7 of it to bake a cake. She packed the
remaining flour into 3 bags equally. How much flour did she have in each bag?

(1) 5 kg
(2) —xg
16
(3) kg
16
1
(4} 13 kg

12. A semicircle was cut from a rectangle as shamgn below. ‘The perimeter of the
rectangle before it was cut was 56 cm. What is the perimeter of the shaded

figure? (Take 1 = Z)

{(1) 58cm
{(2) 64cm 8cm
{3) 80cm
(4) 86cm
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13,

14,

Danish reports to work at 09 30. The table shows the different travel options
he can {ake {o go to work,

From To Mode Duratlon
Option A Home“ Interchange Walk 15 min
Option B Home Intarchange Bus 10 min
OptionC Interchange Workplace Bus 1h20 min
Option D Interchange Workplace MRT 1 h 10 min

This moming, Danish left home at 07 55 and reached his workplace 10 minutes
before his reporting time. Which travel options did he take’?

(1) AandC
(2) AandD
(3) BandC
(44 BandD

In the figure, AOC and BOE are straight lines. ZAQB = 285°. Find ZEQD.

(1) 3t°
(2) 44
(3)  61°
4 75
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15,  The bar graph shows the number of files sold from March to July.

60

50

Number of
files sold 30

=0 — ~—
April May June July

March

In which of the following months was the percentage change in the number of
files sold the greatest?

{1)  March to April
(2)  Aprilio May

(3) MaytoJune

(4)  Juneto July

- End of Boollet 4 -
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Questions 16 to 20 camy 1 mark each. Write your answers in the spaces provided. For
Questions which require unils, give your answers in the unils stated. (5 marks)

18. Find the valueof - %

s QR+
Wi

Do not wrile
in thig space

Ans:
17.  Express 2.9% as a decimal.
Ans:
18.  How much water is in the conlainer?
) t
Ans: mi

PHPPSEMath/PE/Prelim/P1_B/2023



19.  In the figure, ABCD is a trapezium and BCEF is asqu

Find £ABC.

E

L 2

203°
Y

Ans:

are, ZDCE = 203".

Do not wrila
in this space

20.

The picture graph shows the number of bags that were sold by a shop from

Monday jﬁ?* *5/’?

Tuesday *iﬁf‘iﬁ(
Woednesday ‘jﬁ(jﬁ( ﬂ(}ﬁ(jﬁ‘{jﬁ(*
Th:;av AN SARASAQKS

What was the average number of bags sold over the 4 days?

Ans:
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Q‘SGSUORS 21 to 30 cany 2 marks each. Show your working clearly and write your

answers in the spaces provided. For questions which require units, give your answers
In he units stated. (20 marks)

21. (a) Simplify12e +10~4e—7 + 3¢

Do not wiile
In this space

Ans: (a)
n-7
(b)  Find the value of 4n + n2 whennis 5.
Ans: (b)
22. ({a) Find the value 0f 8.92 -~ 3.50
Ans: (a)
(b}  Findthe value of 7.21 + 70
Ans: {b)

PHPPSMath/Pe/Prelim/P1_B/2023
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23. A cartravels 270 km on 30 t of petrol.

{a)  How many kilometres can the car travelon 1 t of petrol?

Ans: (a) km

{b)  How much petrol is needed for the car to trave! 180 km?

Ans: (b) t

Do not wrils
in this space

1
24. Ben had some marbles. The number of blue marbles was 5 the number of

4
red marbles. The number of red marbles was E the number of green marbles.

(a)  Find the ratio of the number of blue marbles to the number of red marbles
to the number of green marbles.

Ans: (a)

(b}  There were 42 blue and green marbles altogether. How many red marbles
were thera?

Ans: (b}
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' Do not write
The figure ABCD shows two right-angled triangles ABC and ACD joined together | in ihis spacs
at ine AC, Find the shaded area AECF,

25,

16em 8

2
Ans; cm

26. The figure is made up of 3 identical rectangles. The perimeter of the figure is
60 cm. Whatis the area of 1 reclangie?

PREFPS/Math/P6/Prelim/P1_B/2023



Do not write
in this space

27.  The square grid shows the positions of A, B, C, D, E, F, G and H.

T

1o

el

{8) Inthe square grid, point is north-west of point G.

Ans: (g)

{b) John is standing at one of the points In the square grid. He is facing
point C. When he makes a % — {umn clockwise, he faces point G. Which

point is he standing at?

Ans: (b)

28. A container of juice can fill either 35 bottles or 55 cups exatctly. The capacity of
each botlle is 60 mi more than each cup. What is the capacily of a cup?

Ans: mil

PHPPS/Math/P6/Prelim/P1_B/2023



29, i:ina had $800 in her wallet. She spent some money from January 1o May. The
line graph shows the amount of money in her wallet at the start of each month.

1000
Amountof 750 -
money in i
her wallet S}
althe S00 o
start of \\
each month =
250
() —
January February March April May

{a)  inwhich month did Lina spend half of the money she had at first?

Ans: {(a)

(b}  The amount of money Lina spent in each month can be represented in the
pie chart.

Complete the pie chart with the month tha
money Lina spent, Write J for January,
A for April in the blanks below.

t represents the amount of
F for February, M for March and

Do not write
in 1his space

Ans: (b) (i)__ , (i) » (iif) , (iv)

=
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30. Atrangle ABCIs drawn on a square grid.

lc
=
WA /
W~
7 T
/ X
5

{a)  Measure and write down the size of ZABC.

Ans: (a}

{b)  Using the line WX, draw a parallelogram WXYZ such that it has the same
perimeter as triangle ABC. Use a pencil to draw your diagram and label it

clearly,

End of paper

B
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Piease do not write beyond this margin

Questions 1 to 5 carry 2 marks each. Show your working clearly and write your answers |
in the spaces provided. For questions which require units, give your answers in the units
stated. {10 marks)

1. Use all the digits 0, 4, 5, 9 to form

“ (a) thelargest number thatis a multiple of 5.

Ans: (a)
(b) the number thatis closest to 5000.
Ans: {b)
2. Cubes A, B, C, D, E and F are used to build a solid.
’Side view

Name the cubes to be removed to have the same top, front and side views as
shown below.

Top View Front View Side View

Ans;

Please do not write in the margin

1
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Please do not write beyond this margin

3.

The pie chart represents the sports played by some Primary 6 pupils. The number

of pupils who played each sport is shown in the table.

Humber of
' Sport Puplls

Badminton | g, cketball Soccer ?
N Basketball 47
Badminion 38
Soccer Table-Tennis 75

Table-Tennis able-Tenn

How many pupils played soccer?
Ans:

5 2
At a fruit shop, = of the fruils were apples and the rest were oranges. — of the

8

apples and 104 oranges were sold. Half of the total fruits at first were left.

How many fruits were there at first?

Ans;

5

Please do not write in the margin

2
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Please do not write beyond this margin

S. The figure shows part of a trapezium. The dotted line Is the line of symmetry.

1 unit
B

1 1 unit

(a)  Draw on the square grid to complete trapezium ABCD. Use a pencil to draw

your diagram and label it clearly.

()  Whatis the area of the trapezium?

Ans: (b)

square units

Please do not write beyond this margin

Please do not write in the margin

3
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Please do not write beyond this margin

swers in the spaces
] at the end of each
(45 marks)

rking clearly and write your an

For questions 6 to 17, show your wo
able is shown in brackets |

provided. The number of marks avail
question or part-question.

6. A car and a van were 532 km apart. At 10.40 a.m,, the car and the van staried to
travel towards each other. The car travelled at 87 km/h while the van travelled at
65 kmvh. Both vehicles did not change thelr speeds throughout.

(a) What was the total distance travelled by both vehicles in an hour?

Ans: {a) f1]

(b} At what time would the two vehicles meet?
Leave your answer in 24-hour clock.

[ i
i

Ans: {b) ; [2]

Please do not write beyond this margin

Please do not write in the margin }

4
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Please do not write beyond this margin

7. A shop was having a sale.

(a)

(b

T
$3y

Dress

Shirt

e/

Shorts

Buy any 2 and get $5 off.
Buy any 3 and get $10 off.

$(y +20)

Ans: (b)

Beth bought a dress and a shit. How much did she pay altogether?
Give your answer in terms of y in its simplest form.

Ans: (a)

Ann bought one of each item. She paid a total of $140, Find the value of y,

[1]

12

Please do not write in the margin

PHPPS/Math/P&/Prefim/P2/2023
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8 There were 80 more boys than gifis in a club. 10% of the boys went for a camp and |

9. The figure shows a quarter circle ABC and arectangle CDEF. The length of AC

the remaining number of pupils in the club became 1402 pupils. How many girls
were there in the club?

Ans: [3]

is 10 ¢cm. The sum of the lengths of EF and ED is 14 ¢cm.

B

(Take r = 3.14)

{a)  Find the area of the quarter circle ABC.,

Ans: (a) i1

(b) Find the perimeter of the shaded part DABF.

Ans: (b) [21

Please do not write in the margin

Please do not write beyond this margin

6
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Please do not write beyond this margin

10. The bar graphs show the number of books sold by shops A, B and C in 2020 and
2021. Shop A sold the same number of books in 2020 and 2021. The number of

books sold is not shown on both scales.

2020 2021

Number
of
books
sold

YTOYY

Shop A ShopB ShopC '‘ShopA ShopB ShopC

{a)  The total number of books sold by shop B in 2020 and 2021 was 420.

How many books did shop A sell in the two years?

Ans: {(a)

[

(b)  Shops B and C sold the same number of books in 2022. Shop C had a
25% decrease in the number of books sold from 2021 to 2022. What was
the percentage increase in the number of books sold by shop B from 2021

to 20227

Ans: (b)

2]

Please do not write in the margin

: 7
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™

11.  Gopal uses cubes to form salids that follow a pattern. The first four solids are
shown below,

Solid 1 Solid 2 Solid 3 Solid 4
(8)  Study the pattem and complete the table for solid 5.
Solid Number of Number of Total number
painted cubes | unpainted cubes of cubes
1 0 1
2 4 8
‘ 3 18 27

4 16 48 64
5 125

[

(b)  Which solid has 196 painted cubes?

Please do not write bayond this margin

Ans: {b) 1]

(c) A total of 5832 cubes are used to build a solid.
How many unpainted cubes are used in the solid?

Ans: {c) [2]

Please do not write in the margin
8

PHPPS/Math/P6/Prelim/P2/2023



Please do not write beyond this margin

ﬁhop sells big boxes and small boxes as shown.

Big Box Small Box
$35.50 each $9.80 each

Raja and Hannah bought the same total number of boxes. Both of them bought
some big boxes. Raja bought 37 small boxes while Hannah bought 9 small boxes.

{a)  Who paid more for the boxes?
Find the difference in the amount paid by Raja and Hannah.

Ans: (a) Name:

Amount: (2}

{(b)  Raja and Hannah spent less than $3000 on the boxes altogether. What was
the greatest possible number of big boxes Raja bought?

Ans: (b} (2]

Please do not wrile beyond this margin

Please do not write in the margin
9
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13, Mrs Fu spenl :? of her money on 30 mangoes and some apples. The ratio of the

cost of sach mango to the cost of each apple was 5 : 3. She bought some moare

5
mangoes with 3 of the remaining money and saved the rest of her monay.

She bought a total of 205 mangoes.

(a) How many apples did Mrs Fu buy?

Ans: (a) (3]

(b)  Mrs Fu used the same number of mangoes and apples she had to bake fruit
tarts. In the end, the ratio of the number of mangoes left to the number of
apples left was 1 : 6. How many apples did she use to bake the fruit tarts?

Ans: {b) 2]

ol

Please do not write in the margin
10 l
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14.

ABCD Is a square gnd CDEF is a rhombus. EFG Is a triangle. ECG Is a straight

line. ZEFG =8B,
G
A
D
g7°
88°,
E F
{a) Find ZEDC.
Ans:; (a) [1]
(by Find LEGF.
Ans: (b) 1
(¢c) Find ZCBF.
Ans: (c) 2]

Please do not write in the margin

iR
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15, The diagram shows 2 tanks, X and Y, of different dimenslons. X was empty
while Y was filled with 25.2 t of water.

30 ¢cm

&
?
i
]
:
35 em - ; _______________ | 4
e .
al , ‘AG cm
60 cm
X Y
{a)  What was the height of the water level in Y2
Ans: (a) {1]

(b) At 9 am., water from Tap X flowed in at a rate of 7.2 Umin while water
flowed out from Tap Y at a rate of 3.6 #/min. Both taps were tumed off when
the height of the water leve! of X was the same as that of Y. At what time
were the taps tumed off?

Ans: (b) (3]

Please do not write In the margin
- 12
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Please do not write beyond this margin

——

1

- . folded the
16.  Sam had a trapezium ABCD and an equilateral triangle EFG. He ‘
trapezium along the line DH to form a parallelogram HBCD. He then pasted the

triangle over the parallelogram as shown.

Please do not write beyond this margin

Please do not write in the margin

14
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(a) Find LADG.

{b} Find LCEG.

Ans: {b)

13

[2)

Please do not write In the margin

15
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17. A company used two machines A and B with different printing rates to print s[ickgrs,
The graphs below show the tolal number of stickers printed by each machine
from 1 p.m.

Machine A
500
400
Total
number 300
of stickers
printed
from 200 =
1 p.m. =4
£
100 4
=
e
=
0 2
Tpm 130pm. 2pm. 230p.m. 3pm, 3.30pm. 4 p.m. g
Time g
)
=
O
0
Machine B »
800 S
o
600
Total
number
of stickers
printed 400
from
1 p.m. /
200
0
1 p.m. 2 p.m. 3p.m. 4 p.m. 5p.m.
Time

Please do not write in the margin

16
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(a)

Statement

True | False

Not Possible
to Tell

Machine B printed 40 more stickers than
machine A in the first hour.

Machine A took 30 minutes less than
machine B to print 400 stickers.

Machines A and B printed a total of 640

1
stickers in 1-5 hours.

machine A printed?

(b) Both machines did not change their rates of printl
When machine B had printed 800 stickers, how many S

Ans:

(2

ng throughout.
tickers had

Please do not write in the margin

End of paper

17
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SCHOOL
LEVEL
SUBJECT :

TERM

PEI HWA SCHOOL
PRIMARY 6
MATH

2023 PRELIM

PAPER 1 BOOKLET A

Q1

Qz :"3

s oA os s o

| Q10

2

11 | Q12

PAPER 1 BOOKLET B

Q16)

3
18

Q17)

0.029

Q18)

1250ml

Q19)

67°

Q20)

10

Q21)

a)l1e+3
b)24

Q22)

a)5.42
b)0.103

Q23)

a)9km
b)20L

Q24)

a)2:4:5
b)24

Q25)

142cm?2

Q26)

72cm?2

Q27)

a) H
b) D

Q28)

105ml




Q29) a) March

b) WJii)F, iii)A, iv)M
Q30)
a)62

b)2

&L




PAPER 2

Q1) |a)9540
b)5094
Q2) | B+C
Q3) |28
Q4) [8+2=4
4 -3 =1
1u = 1éft (0)
104 + 2 =52
52 x 8 =416
Q5) | a)
11nit
5 ihmit
A <

b)9 x 2 = 18 square units

Q86) | a)87 + 65 = 152km

b)532 + 152 = 3%, = 3 hours 30 min

& ! =
1040 3 hours 1340 30min 1420

Ans : 1420

Pgl



Q7) | a)$(dy-5)

b)140 + 10 = 150
150 — 20 = 130
130 + 5 = 26

Q8) | 190% > 1402 + 80 = 1482
10% > 78

100% -> 780

780 -80 =700

Q9) a) %ax3.14x10x 10 = 78.5cm2
b) ax3.14 x20=15.7
16.7+6 + 10 =31.7cm_

Q10) | a)13 = 15 = 28
420 = 28 = 15
15 x 12 = 180

b)100 — 25 = 15
15 x 24 = 360
360 + 100 = 3.6
3.6 x 75 = 270
15 x 15 = 225
270 — 225 = 45
451225 x 100 = 20%

Q11) | a)25, 100, 125
b)14
¢)5508

Q12) a) Hannah

b) 35.50 — 9.80 = 25.70
. 28x25.70 = $719.69
c) 21

Q13) | a)300
b)186

Q14) | a)180° — 67° — 67° = 46°

b)180° — 88° — 67° = 25°

¢)360° — 90° — 67° — 67° = 136°
(180° — 136°) + 2 = 22°

Pg2




Q15)

a)25.2L = 25200ml
25200 + 15 + 30 = 56cm
b)9.04 a.m.

Q16) | a)54°
b)12°
Q17) a) True
False
False

b)480 — 160 = 320

Pg3









